

Tabulation of Bids Page 1 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4
Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(1) WICKBERG MARINE CONTRACTING, INC.		(2) SOUTHWIND CONSTRUCTION CORP.		(3) MOBILE DREDGING & VIDEO PIPE, INC.		
Alt Set / Al	t Member Qua	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Miscellaneous		Cat Al	t Set:	Cat A	It Member:	
0001 15	1006M	1.000	20,000.00000	20,000.00	9,108.00000	9,108.00	20,000.00000	20,000.00
PERFORMAN PAYMENT BO	NCE BOND AND OND	DOLL						
0002 15	2004P	1.000	8,000.00000	8,000.00	13,000.00000	13,000.00	10,000.00000	10,000.00
OWNER'S AN PROTECTIVE INSURANCE	ND CONTRACTOR'S E LIABILITY	DOLL						
0003 15	2015P	1.000	2,000.00000	2,000.00	1.00000	1.00	5,000.00000	5,000.00
POLLUTION	LIABILITY INSURANC	E DOLL						
0004 15	3009P	(1)	44,500.00000	44,500.00	486.85000	486.85	4,000.00000	4,000.00
BAR CHART SCHEDULE A	PROGRESS AND UPDATES	LS						
0005 15	55003M	1.000	30,000.00000	30,000.00	13,520.00000	13,520.00	15,000.00000	15,000.00
FIELD OFFIC	E TYPE A SET UP	U						



Page 2 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4

Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(1) WICKBERG MARINE CONTRACTING, INC.		(2) SOUTHWIND CONSTRUCTION CORP.		(3) MOBILE DREDGING & VIDEO PIPE, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Miscellaneous		Cat Al	t Set:	Cat A	It Member:	
0006 155021M	6.000	8,000.00000	48,000.00	778.96000	4,673.76	25,000.00000	150,000.00
FIELD OFFICE TYPE A MAINTENANCE	MO						
0007 157004M	1.000	80,000.00000	80,000.00	19,399.90000	19,399.90	30,000.00000	30,000.00
CONSTRUCTION LAYOUT	DOLL						
0008 158003M	1,100.000	6.00000	6,600.00	4.77000	5,247.00	5.00000	5,500.00
CAUTION FENCE	LF						
0009 158009M	400.000	8.00000	3,200.00	17.17000	6,868.00	12.00000	4,800.00
HEAVY DUTY SILT FENCE, ORANGE	LF						
0010 158060M	50.000	65.00000	3,250.00	165.56000	8,278.00	125.00000	6,250.00
CONSTRUCTION DRIVEWAY	Y T						



Tabulation of Bids Page 3 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4
Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(1) WICKBERG MARINE CONTRACTING, INC.		(2) SOUTHWIND CONSTRUCTION CORP.		(3) MOBILE DREDGING & VIDEO PIPE, INC.		
Alt Set / A	Alt Member Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Miscellaneous		Cat Al	t Set:	Cat A	It Member:	
0011	158072M	1.000	1,000.00000	1,000.00	713.58000	713.58	500.00000	500.00
OIL ONLY E TYPE 1	EMERGENCY SPILL KI	T, U						
0012	158084M	7.000	72.00000	504.00	1,434.84000	10,043.88	500.00000	3,500.00
EROSION O	CONTROL SEDIMENT	CY						
0013	158085P	1.000	30,000.00000	30,000.00	3,477.50000	3,477.50	1,500.00000	1,500.00
BIOLOGICA	AL SURVEYS	LS						
0014	159018M	2.000	2,900.00000	5,800.00	2,716.76000	5,433.52	2,000.00000	4,000.00
CONSTRUC SIGN, 6' X 1	CTION IDENTIFICATIO 12'	N U						
0015	161003P	(1)	10,000.00000	10,000.00	3,477.50000	3,477.50	5,000.00000	5,000.00
FINAL CLE	ANUP	LS						



Tabulation of Bids Page 4 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4

Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(1) WICKBERG MARINE CONTRACTING, INC.		(2) SOUTHWIND CONSTRUCTION CORP.		(3) MOBILE DREDGING & VIDEO PIPE, INC.		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Miscellaneous	Cat Alt Se		Set: Cat A		It Member:	
0016	201003P	(1)	30,000.00000	30,000.00	25,507.44000	25,507.44	5,000.00000	5,000.00
CLEARIN	G SITE	LS						
0017	202041M	29,630.000	20.00000	592,600.00	9.69000	287,114.70	14.37000	425,783.10
	NG, TRANSPORT AN ENT TO CDF	D CY						
0018	202042M	13,290.000	25.00000	332,250.00	12.78000	169,846.20	16.16000	214,766.40
	NG, TRANSPORT AN ENT TO BEACHFILL	D CY						
0019	MMG014M	9,760.000	20.00000	195,200.00	24.57000	239,803.20	31.99000	312,222.40
DREDGIN	lG	CY						
0020	202043P	1.000	2,900.00000	2,900.00	13,480.29000	13,480.29	20,000.00000	20,000.00
SLURRY	WATER CONTROL	LS						



Tabulation of Bids Page 5 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4

Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(1) WICKBERG MARINE CONTRACTING, INC.		(2) SOUTHWIND CONSTRUCTION CORP.		(3) MOBILE DREDGING & VIDEO PIPE, INC.		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Miscellaneous		Cat Al	t Set:	Cat A	It Member:	
0021	510003P	(1)	145,000.00000	145,000.00	54,536.29000	54,536.29	50,000.00000	50,000.00
TIMBER	STRUCTURE	LS						
0022	605201P	300.000	8.00000	2,400.00	36.11000	10,833.00	18.00000	5,400.00
SAND FE	ENCE	LF						
0023	806018P	1,000.000	0.60000	600.00	2.48000	2,480.00	3.25000	3,250.00
FERTILIZ F	ZING AND SEEDING	, TYPE SY						
0024	809003M	1,000.000	0.60000	600.00	1.39000	1,390.00	3.25000	3,250.00
STRAW I	MULCHING	SY						
0025	154003P	(1)	30,000.00000	30,000.00	1,139,407.51000	1,139,407.51	918,085.00000	918,085.00
MOBILIZ	ATION	LS						
Section	on Totals:			\$1,624,404.00		\$2,048,127.12		\$2,222,806.90



Page 6 of 12

Contract ID: 17414

Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017

District(s): H4

Call Order: 414

Project(s): N/A

Contract Time: 02/28/18 COMPLETION DATE

Min: Max:

Contract Description: Dredging of Spicers and Beach Creek and St. Georges Channels

Contract Totals \$1,624,404.00 \$2,048,127.12 \$2,222,806.90

Cost Plus Time Totals \$1,624,404.00 \$2,048,127.12 2,222,806.90

() indicates item is bid as Lump Sum



Tabulation of Bids Page 7 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4
Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(4) FERREIRA CONSTRUCTION CO., INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Miscellaneous		Cat Alt	: Set:	Cat A	It Member:	
0001 151006M	1.000	25,000.00000	25,000.00				
PERFORMANCE BOND AND PAYMENT BOND	DOLL						
0002 152004P	1.000	4,573.00000	4,573.00				
OWNER'S AND CONTRACTO PROTECTIVE LIABILITY INSURANCE	PR'S DOLL						
0003 152015P	1.000	25,000.00000	25,000.00				
POLLUTION LIABILITY INSUR	RANCE DOLL						
0004 153009P	(1)	5,000.00000	5,000.00				
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 155003M	1.000	39,000.00000	39,000.00				
FIELD OFFICE TYPE A SET U	JP U						



Tabulation of Bids Page 8 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4
Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(4) FERREIRA CONSTRUCTION CO., INC.					
Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Miscellaneous			Cat Alt	Set:	Cat A	It Member:	
0006 155021M	6.000	2,320.00000	13,920.00				
FIELD OFFICE TYPE A MO MAINTENANCE							
0007 157004M	1.000	37,000.00000	37,000.00				
CONSTRUCTION LAYOUT	DOLL						
0008 158003M	1,100.000	7.00000	7,700.00				
CAUTION FENCE	LF						
0009 158009M	400.000	9.00000	3,600.00				
HEAVY DUTY SILT FENCE ORANGE	E, LF						
0010 158060M	50.000	56.00000	2,800.00				
CONSTRUCTION DRIVEW	/AY T						

Page 9 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4
Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(4) FERREIRA CONSTRUCTION CO., INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Miscellaneous		Cat Alt	: Set:	Cat A	It Member:	
0011 158072M	1.000	900.00000	900.00				
OIL ONLY EMERGENCY SP TYPE 1	PILL KIT, U						
0012 158084M	7.000	32.00000	224.00				
EROSION CONTROL SEDIM REMOVAL	MENT CY						
0013 158085P	1.000	32,098.00000	32,098.00				
BIOLOGICAL SURVEYS	LS						
0014 159018M	2.000	1,200.00000	2,400.00				
CONSTRUCTION IDENTIFIC SIGN, 6' X 12'	CATION U						
0015 161003P	(1)	5,000.00000	5,000.00				
FINAL CLEANUP	LS						



Page 10 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4
Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(4) FERREIRA CONSTRUCTION CO., INC.					
Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Miscellaneous		Cat Alt	t Set: Cat A		It Member:	
0016 201003P	(1)	25,000.00000	25,000.00				
CLEARING SITE	LS						
0017 202041M	29,630.000	46.00000	1,362,980.00				
DREDGING, TRANSPORT PLACEMENT TO CDF	AND CY						
0018 202042M	13,290.000	46.50000	617,985.00				
DREDGING, TRANSPORT PLACEMENT TO BEACHF							
0019 MMG014M	9,760.000	47.00000	458,720.00				
DREDGING	CY						
0020 202043P	1.000	65,000.00000	65,000.00				
SLURRY WATER CONTRO	DL LS						

Page 11 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4

Call Order: 414 Project(s): N/A

Line No / Item ID Item Description		(4) FERREIRA CONSTRUCTION CO., INC.						
Alt Set / A	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Miscellaneous		Cat Alt	Set:	Cat A	It Member:	
0021 5	510003P	(1)	95,000.00000	95,000.00				
TIMBER ST	RUCTURE	LS						
0022	605201P	300.000	13.00000	3,900.00				
SAND FENC	CE	LF						
0023 8	306018P	1,000.000	1.00000	1,000.00				
FERTILIZIN F	G AND SEEDING,	TYPE SY						
0024 8	309003M	1,000.000	1.20000	1,200.00				
STRAW MU	ILCHING	SY						
0025 1	154003P	(1)	315,000.00000	315,000.00				
MOBILIZAT	ION	LS						
Section	Totals:			\$3,150,000.00				



Page 12 of 12

Contract ID: 17414 Counties: ATLANTIC, CAPE MAY

Letting Date: August 08, 2017 District(s): H4

Call Order: 414 Project(s): N/A

Contract Time: 02/28/18 COMPLETION DATE Min: Max:

Contract Description: Dredging of Spicers and Beach Creek and St. Georges Channels

Contract Totals \$3,150,000.00

Cost Plus Time Totals \$3,150,000.00

() indicates item is bid as Lump Sum



Vendor Ranking

Page:

Call Order: 414 Contract ID: 17414 Counties: ATLANTIC, CAPE

MAY

Letting Date: August 08, 2017 10:00 AM District(s): H4

Contract Time: 02/28/18 COMPLETION DATE

Contract Description: Dredging of Spicers and Beach Creek and St. Georges Channels Project(s): N/A

Rank	Vendor ID/	Name	Total Bid	Percent Of Low Bid
1	22-2166036	WICKBERG MARINE CONTRACTING, INC.	\$1,624,404.00	100.00%
2	35-1474620	SOUTHWIND CONSTRUCTION CORP.	\$2,048,127.12	126.08%
3	M6019	MOBILE DREDGING & VIDEO PIPE, INC.	\$2,222,806.90	136.84%
4	F2743	FERREIRA CONSTRUCTION CO., INC.	\$3,150,000.00	193.92%
	A3063	AGATE CONSTRUCTION CO., INC.	Irregular	
	H3450	H & L CONTRACTING, LLC	Irregular	

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,